
RS1 = RSC01*(C1./12.I*RT*RST1-RST2) 
RSC02 = (2./3.)*STRO 
RST3 = 7.*A1*CRTIZEKE-O.S*BOY3*SALL4) 
BOY8 = 1.IC2.*CALPHT*GAMTI**0.2S) 
RST4 = C9.*A2*HC*HC+3. *A3)*BOY8*BALL4 
RS2 = RSC02*CRST3-RST4) 
RSC03 = COEF3/F 
RSTS = GRE6*RST3/C7.*All 
RST6 = GRE7*SOY8*BALL4 
RST7 = RT*CCGRF.6*RT*RT-GRE71/EPSITI 
RS3 = RSC03*CRSTS+RST6-RST71 
RS4 = (1./3.I*B*RT*RT*RT*C4.*Al+A21 
RST8 = (2./3.)*A1*B*RT*RT-A2*B*RT*RT+2.*A3*S+PT 
RSS = CRST8+6.*A2*5*HC*HC)*RT 
RS6 = SIDER/(F*RT) 
RSIDE = RS1-RS2+RS3-RS4-RS5-RS6 
DELTl :: 2.*C (HO-HT)-( Cl.-UNU)/G)*RSIDE) 
DELT2 = ABS(DELT11 
IFCDELT2+DELTl)1,76,7S 

76 DELT3· = ABSCDELTAI 
IFCDELT3+DELTAll,71,72 

71 DELT5:: DELT1-DELTA 
DELT4 = ABSCDELT51 

73 IFCDELT4/DELTA-O.01190,90,79 
93 IFCDELTSI98,90,99 
98 DELTA:: DELTA+SAM 

CUP :: O.25*CUP 
GO TO 79 

99 DELTA:: DELTA-SAM 
CUP :: 0.2S*CUP 
GO TO 79 

79 PRINT, DELTA, A2, A24, CUp, DELTS 
PRINT, AI, A2, A3, A24 
PRINT, RC, RT, HC, HT 
IFCDELTSI96,9 0 ,97 

96 SAM = CUP*DELTA 
Y = Y+l. 
IFCXll,84,88 

84 DELTA = DELTA-SAM 
PRINT, DELTA 
GO TO 10 

FIG. 2 I (CONTINUED) 
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